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1
Eirs = 5 (=7 =38t 450 +50W + (cos (65) + v3sin (65) ) vAs)
1 1
Wi78) = |5, > —§7T4,2>
= Cirsa (]022d) — [20d2) — |2d02) + |d220))
+  Ci7s2(]02d2) + (0d22) — |202d) — |220d) + |22d0) + |2d20) — |d022) — |d202))
+ Cirs3(|12dud) — |2udd) + |d2du) + |dd2u) + |ddu2) — |dud2) — |u2dd) — |ud2d))
Cig—1 = % (J2 + (t — 2(U + 18W))J + 27t% + 9U? — 11tU — 98tW + 164UW)
+ (1_18 —A5, + 12W (41U + 209W) — 3(J + 4t — 3U — 34W) (cos (65) + v/3sin (95)) \ /AG))
1
Cirs—2 = §t( +6t+U)
1
+ <Et —2W) + (cos (65) + V3 sin (05)) \/A_G))
1
Cirg—3 = Et( J+12t - U)
+ ( U +2W + (cos (65) + V/3sin (05)) \/A_6)>

Nizg = 2\/01781+2 01782+Cl783)



